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Data & Cuts

System: Kr + Kr +/ = 6 GeV
UrQMD, statistics: ~1.7x10% events

Track cuts:
* |yl <0.1
* |n[<1.0
 pr>0.15 GeV/c

Centrality is calculated using reference multiplicity (|n| < 1.0, pr > 0.15 GeV/c)




Collision centrality determiantion using reference multiplicity (| n| < 1.0)

System: Kr + Kr +/ =6 GeV
Reference multiplicity (RefMult) is calculated as a number of charged particles with |n| < 1.0 and p; > 0.15 GeV/c

Reference multiplicity (m|<1, pT>O.15 GeV/c)

RefMult
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Fitting spectra using blast wave model

sinh () cosh ()

0 Kin kin

- transverse mass of a hadron _ fit ranges:
()= tanh1 :0.5-1.3 GeV/c

0, 1 -the modified Bessel functions K:0.25- 1.4 GeV/c
= 2% ,  -thesurface velocity

- the exponent of flow velosity profile

Fit results (Kr + Kr +/ = 6 GeV)

Collision centrality , M3aB /

0-5% 0.38 +0.02 104 +6 1.49
5-10% 0.420 = 0.007 913 1.07
10 - 20% 0.40+0.02 93+ 7 1.16
20 - 30% 0.42 +=0.02 85+4 1.54
30 - 40% 0.417 £ 0.007 76 £ 2 1.45
40 - 50% 0.433 = 0.005 64+ 3 1.28
50 - 60% 0.419 +0.006 70+3 1.43




Fitted hadron spectra for different centrality classes

2
10 0-5%
curves: BW fits
10 ot Om
mK® oK
=Fit  «Fit
1 -
107 -
= .-908;
- » 3¢
-2 i = + , '*' % >
10 = + MeV ** 4
/= ff 7
I | I
0.5 1 1.5 2
P, [GeV/c]
UrQMD Kr+Kr s, =6 GeV 20-30%
10 ",‘ curves: BW fits
§ *, ot O
mK® oK
- ~Fit . Fit
10'1|;—
- oo
i i’gﬁ-ﬁ' -
102 o5 AN
E = + CEQ d'} ***$$¢+q>{,l}
[ = =+ MeV ? 4
1078 / = éﬁ $
E I | I 4’&9 +
1.5

2
P, [GeV/c]

E‘ UrQMD Kr+Kr \s,, = 6 GeV

5-10%
curves: BW fits
o
oK™
«Fit

d°N
Ney 21 p_dy dp_

eort
mK*
=Fit

11

30-40%
curves: BW fits
o
oK™
«Fit

eort
mK*
=Fit

—
=

1072

107

/

TI'I T ||||ITr|

o UrQMD Kr+Kr \[ST‘N =6 GeV 10-20%
s curves: BW fits
Y B
Lo ot On
mK* OK
=Fit «Fit

0%02
+*¥
e

"
'? i fﬁ

2
P, [GeV/c]

40-50%
curves: BW fits
on
oK™
«Fit

om’t
mK*
=Fit




